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For Exercises 3-10, use inductive reasoning to find the next two terms in each sequence.
g 1112 2 2
3. 1, 10, 100, 1000, %, £ 2.143%3.1®
[
5. 7,3, —1,—5,—9,—13, %, 6. 1,3,6,10,15,21, £, +
? 2
7.1,1,2,3,5,8,13, %, 2 ®. 8. 1,4,9,16,25,36, £, L
[
9. 32,30,26,20,12,2, &, % 10. 1,2,4,8,16,32, £, *

For Exercises 11-16, use inductive reasoning to draw the next shape in each
picture pattern.
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EXERCISES

When you use _2_ reasoning you are generalizing from careful observation that

something is probably true. When you use _2_ reasoning you are establishing that,
if a set of properties is accepted as true, something else must be true.

% 1.

2. £A and £B are complementary. mZA = 25°. What is m/ B? What type of

reasoning do you use, inductive or deductive reasoning, when solving this problem?

3. If the pattern continues, what are the next

two terms? Al °° i o Y 16
What type of reasoning do you use, inductive ; : :

or deductive reasoning, when solving this
problems?

4. ADGT is isosceles with TD = DG. If the perimeter of ADGT is 756 cm and
GT = 240 cm, then DG = _2. What type of reasoning do you use, inductive or
deductive reasoning, when solving this problem? A
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